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QUESTION 1

A customer need four Synergy compute nodes to provide virtual machine access to six VLANs over a single link
aggregation group.

How can the Synergy integrator configure the environment to meet the customer\\'s needs?
A. Create a single tunnel network and assign it to one or more interfaces in the server profile template.
B. Create six untagged networks and assign them to one or more of the interfaces in the server profile template.

C. Create six untagged networks, associate them with an IP address pool, and assign them to one or more of the
interfaces in the server profile template.

D. Create six untagged networks, add them to a network set, and assign that network set to one or more interfaces in
the server profile template.

Correct Answer: A

QUESTION 2
DRAG DROP

A customer needs a Synergy solution configuration with 40Gb uplinks that will connect to network equipment in a
different rack.

Click and drag the cable type on the left to the corresponding distance between the frame and the network equipment
on the right to meet the customer\\'s needs.

Select and Place:

Transceiver/Cable Type Distance Covered

QSF2+ MPO SR4 Transceiver Between 5 and 15 meters
QSFP+ LC LR4 Transceiver 5 meters or less

QSFP+ DAC Cable Between 300 meters and 10 km
QSF2+ Active Optical Cable 300 meters or less

Correct Answer:

Latest HPEO-S50 Dumps | HPEO-S50 PDF Dumps | HPEO-S50 Practice Test 2/5


https://www.pass4itsure.com/hpe0-s50.html
https://www.pass4itsure.com/hpe0-s50.html
https://www.pass4itsure.com/hpe0-s50.html

a VCE & PDF

PassditSure.com

Transceiver/Cable Type
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Distance Covered

QSFP+ Active Optical Cable

QSFP+ DAC Cable

QSFP~+ LC LR4 Transceiver

QSFP+ MPO SR4 Transceiver

QUESTION 3

DRAG DROP

Between 5 and 15 meters

5 meters or less

Between 300 meters and 10 km

300 meters or less

Use the arrow or click and drag the HPE Synergy components on the left to their correct order for a firmware update,

based on HPE best practices, on the right.

Select and Place:

Component

Order

HPE Synergy Frame Link modules,
inlercommect modules, and I/'O adaplers.

HPE Synergy Composer

HPE Synergy Compute modules

HPE Synergy Image Streamer

Correct Answer:
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Component Order

HPE Synergy Composer

HPE Synergy Image Streamer

HPE Synergy Frame Link modules,
interconnect modules, and I'O adapters.

HPE Synergy Compute modules

QUESTION 4

A customer has forgotten the password for the HPE OneView Appliance controlling the customer\\'s HPE Synergy
Infrastructure.

Where can the customer reset the password with the assistance of HPE Support?
A. Maintenance Console screen

B. FLM Access to Synergy Console

C. Virtual Center server

D. Front Access Panel to Synergy Console

Correct Answer: A

QUESTION 5
A customer needs increased available bandwidth and highly available network Virtual Connect interconnects.

Which two steps must the Synergy integrator perform in the configuration to meet the customer\\'s needs? (Choose
two.)

A. Link Ports L1 and L4 on Master ICMs to ports L1 and L2 on the first Satellite ICM.
B. Install Redundant Frame Link Modules and a second management ring.

C. Enable Multimodule Link Aggregation Group (MLAG).

D. Enable Intelligent Resilient Fabric (IRF) on the Virtual Connect Modules.

E. Connect Ports Q7 and Q8 on the Master Interconnect Modules (ICM).
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Correct Answer: AD
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